Ch 8 Review Answers
1. 

a) Yes it is binomial since it satisfies all four conditions:  Probability is .45 for all students, Two outcomes:  either eat or not eat…each student is independent (random sample) and there are 10 students.

b) .1664


c)  .9004


d)  .2660

e) 4.5

f) 1.57

2.  .3823


3a. 1/p

3b. 
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4a.  np
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[image: image2.wmf](1)

npp

-

 
5.  It is skewed to the right with the first “bar” having a height of .5 and each subsequent bar having a height of half of the previous bar.

6.  It is also skewed to the right, but the first “bar” has a height of .2 and each subsequent bar has a height 80% of the previous bar.

7.  
a)  Not binomial:  there are more than two outcomes
b)  Not binomial:  the probability is not the same for all trials…cards are NOT replaced.

c)  Not binomial:  there is not a set number of trials

8.  It is symmetric and when n increases, the histogram becomes more normal.

9.  When n is small, the histogram is skewed right.  As n increases, the histogram becomes more and more normal.  Specifically when 
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 , it is OK to use a normal curve to approximate a binomial.
10.  See book

11.  See book

12.  

a)  X is the number of people that have never been to Disneyland.  Looking ahead to part b), it is B(10, .35)

b) .2522

c)  .2616

d)  3.5

e)  1.508

f)  .8191

13.  

	X
	1
	2
	3
	4
	5

	P(X)
	.29
	.201
	.146
	.104
	.074


b) .146

c)  3.45

d)  .2541

e) .1229
f) .1501

g)  .9728

h)  1534

i)  .1279

j)  .0168

k) Let 01-29 represent a hit and let 30-99 and 00 represent not a hit.  Let 2 digits represent an at bat.  Read across the random number table 2 digits at a time until you have read 24 numbers.  Record the number of “hits” in 24 at bats.
l) 05007 16632 81194 14873 04197 85576 45195 96565  68732 552    6/24 = .25.  25%

14.  When 
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 , it is OK to use a normal curve to approximate a binomial.
15.  

a)  Approximately 0


b)  5

c)  Mean = 4
Standard deviation = 1.789

16.  a)  0.1271

b)  0.4932

17.  a)  .4437

b)  .2285



c)  Using an normal curve P(losing voice more than 25 times ) =.2135.  This probability is NOT that low so no, I would not be surprised if she loses her voice more than 25 times
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